
Trabalhista = R$22.318,28
Presentes = 1

Garantia Real = R$0,00
Presentes = 0

Quirografário =
R$48.462.928,88
Presentes = 16

ME-EPP = R$0,00
Presentes = 0

Aprova
R$26.917.983,67
55,52% 55,52%

44,48% Rejeita
R$21.567.263,49
44,48%

44,48%55,52%

Aprovado por: 55,52% Rejeitado por: 44,48% Abstenção: 0

Classes Crédito % Presentes %
Trabalhista R$22.318,28 100,00% 1 100,00%
Garantia Real R$0,00 0,00% 0 0,00%
Quirografário R$26.895.665,39 55,50% 12 75,00%
ME e EPP R$0,00 0,00% 0 0,00%
Resultado R$26.917.983,67 55,52% 13 76,47%

Classes Crédito % Presentes %
Trabalhista R$0,00 0,00% 0 0,00%
Garantia Real R$0,00 0,00% 0 0,00%
Quirografário R$21.567.263,49 44,50% 4 25,00%
ME e EPP R$0,00 0,00% 0 0,00%
Resultado R$21.567.263,49 44,48% 4 23,53%

Classes Crédito Presentes
Trabalhista R$0,00 0
Garantia Real R$0,00 0
Quirografário R$0,00 0
ME e EPP R$0,00 0
Resultado R$0,00 0
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